e B ¥

— T DTS, —— P 1
i
1. (B 2.\
- HIERN
3. (RICAE) 4. (AXBXCXE)
=« Hifcldl
50399 6.7x 7 84V3 993+1241206 133 1135 RR >R >R
------------------------------------------------ N W
R
L@ a>1  {lb <0 y=log,x+b BRI {116 HA : :
D 0<a<l {o<b<l » y=log x+bBMAMC) . WD) ? ”\
[ 3 e -» .\ - --\'-.ﬁ______&ﬁ > 1
2.0 PA=4sin50" " PO = (4sin50")cosS0" = 25in1 00" = 25in80" iz '
(B PA=4cos36° .. PQ= (400336 )sin36" = 2sin72" | [ "

C)PQ =25inST ++[2cosST = 2(331‘;:57‘* + lercmsr) = 25in(57 +45") = 24inl02" = 2sin78

D)PO = V25in30" +/2c0s30" = Z(Lsinm“ + 1 cos30") = 25in(30° +45°) = 2sin7S

V2 2
1

(E)PQ = cos 40’ ++/3sin40’ = 2(—?31"‘!!40' +-¢0540") = 25in(40" +30°) = 25in 70

.l B ﬂ C B a C e TS

T T EO W
| gﬂﬂ(-)* RS A = P TR H )

m E)» BLB ~ C RAGHHHNE - HIbLa Dre . L gy IemA NI A
e -' b ’

50 Bla~ b~ b EEEA » S a -‘*%—‘r’- LSRR A
i » AJREETEE/]N A0 “
mmgn;cﬁajs s—a» s—b s—cffHA . IHHGRA

T 3"*52"" 305 AR R 200 6 Y (B

g 520 1% -
() Bh %55 200 fizE[13" SO RER o 3N 39T 1S (IS Xy S

c xS EGES A

e [4-1



B _~38 55— 60.20=178.33
Dlog — o= = 200/0g3 - 200/0g2 = 500 0.4771~ 200x0.3010=238.

o BERASHE 179 6 RS
R B3 2 I log3 2000082 - Mg 7y
Sl B 1270 &

=~ BnlE
5.°0 10g3.99=0.601 » i 0.3991+0.601=1 .. 1-0399= —log(10x0.399) °

e

6—20=21
6. LBAC=120° xi—*ﬁﬁ‘ BT » BC- = 5 +4° —2-5-4-cos60" =25+1 P
| S N
:‘ BC=J2_ | . _ HI |
BC J:?._l 2
e ENS SR R — xR =Tz
mmﬁ% SIM é m* ‘“‘x_____,/
2
7.0 CHI(4+B) B ff
o
: IanAd-fanB ol v 3 Gl
S anC =—tan(Ad+B)=— Se—_—
& ER D S —— - (! 1+-;. 7
I 2
"« tan2C I—'Jan(f' =L Sty g =l
I—HIHLC 1_(_1_):. 1 s v]'_‘ 24
7 49
8 f(x)=0f8x= 4271664 _ Do Ry — 4(li£f) — 4(cos60” +1 sin60’) B
Hl f(x*)=0 > Bl x" =4(cos60" =i sin60’) . | 2 e S
IziZ(coﬁO:ifsfn30’)=i\@if ENl ... E ﬁ”{‘kg«fi’:xlx4=4\/§ _;_...f;"'*“'“ =
3 L 5 N
9 @ﬁﬁ?h{ixﬁ*ﬂﬁ ; D9 s= +i“5=3  FiRE/8-3-3-2 =12 e
x V@
=@ = s—'+§+7=9*-ﬁ_*{E§JQ*4-3*2=6\/§ i
. Fisk=9V3 +12+ 66 x2=93 +12+126 ¥
LU
1&P§§E§]l{é_}%———-—33—§‘ Al ZAPA, » ZAPA;, > ZAPA, > > [l 24 PA BEA
. cos£APA, Big/ » 1§ n=33
L P %348 « BCARIEQHER rauAQ—;%—;
XPO=k » AQ=3k > BIERRKEH » (k) +(3k)* =(2V10) » B k=2 L.
. PO=BR=2+ A0=6 + B10B=PR=y5 -2* =1 » RC=Ai0’ —F* —3 . |
| ke o
% ABCD T} (40 + OB) x (BR+RC) = =(6+1)x(2+3)=35 L
s

AB AB AB AB

18 - 2 =
sinld0°  sind0’ e sin20° Ao e
i ZR.D > "RC" > 2R£

200x0.3010 = 196 -

— . ? %ja%" @ -ui‘illZQ' SSnd0° < sinSo°




	14a
	14b

